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BOTANY — GENERAL
Second Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.
Module - 3

(Marks : 50)

. Answer any ten of the following : 1x10

(a) What is periderm?

(b) What is meant by diacytic stomata?
(c) What is Calyptrogen?

(d) What is I-Girder?

(e) What is interxylary phloem?

() What is trisomy?

(g) What is meant by split gene?

(h) What is reciprocal translocation?

(1) Define polyploidy.

() Give two examples of non-sense codon.
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2.

4.

(k) What is Pribnow box?

() What is ‘Linker DNA’?

(m) Mention one important function of nucleolus.
(n) Differentiate transition and transversion.

(o) Name one physical and one chemical mutagen.

Answer any two of the following : 5%2
(a) Discuss ‘Tunica-Corpus’ theory with the help of suitable diagram.

(b) Discuss the ultra-structure of nuclear envelope with suitable diagram.

(c) Describe mRNA splicing.

(d) Describe different types of aneuploidy in plants.

(e) Briefly describe the method of genetic mapping by ‘3 point test cross’.

. (a) What is ‘Stele’? Describe different types of stele with labelled diagrams. 2+8
Or,

What is secondary growth? Describe the secondary growth in Tecoma with labelled diagrams.

2+8
(b) Answer any two of the following :
(1) Discuss the properties of genetic code. 10
(i) What is meant by ‘semiconservative replication’? With suitable diagrams describe the process
of DNA replication in prokaryotes. 2+8
(i) What is meant by aminoacylation of tRNA? Describe briefly the process of prokaryotic
translation. 2+8
Module - 4
(Marks : 50)

Answer any ten of the following : 1x10

(a) Define co-factor with example.

(b) Differentiate nucleoside and nucleotide.
(c) What is Red Drop?

(d) Name a C, plant.

(e) What is B-DNA?

(f) What is ‘Hill Reaction’?

(g) Name one artificial auxin.

(h) Name a hormone that helps in flowering.
(i) What is RQ?



5)

() What is physiologically dry soil?

(k) Name two floating hydrophytic plants.
() What is ‘phytoremediation’?

(m) What is cryopreservation?

(n) Name the edible part of Gram.

. Answer any two of the following :

(a) Discuss briefly the ecological adaptations of xerophytes. 5
(b) Give the scientific names, families and parts used of any two of the following : 25%2

Tea, sugercane, mustard.

(c) Discuss briefly about types of RNA. 5
(d) Describe the primary and secondary structures of protein. 5
(e) Describe the mode of action of enzymes. 5

. (a) (1) Discuss briefly the steps of ‘plant succession’. Write a note on, ‘microclimate’.
(i) Write the scientific name, family and part used of ‘Vasaka’. (4+3)+3
(b) Answer any two of the following :

(i) Discuss the mechanism of stomatal transpiration in plants. Give two examples of anti-
transparent. 8+2

(i) Schematically represent the ‘Z’ scheme of electron transport chain during photosynthesis.
Mention the differences between photophosphorylation and oxidative phosphorylation. 8+2

(i) What is ‘Richmond-Lang’ effect? Describe the physiological role of auxin and gibberellin.
2+4+4



